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15.

S+

. Edward is very excited because he just got accepted to Harvard, the most

Vocabularies and Phrases:
Questions 1-16. Choose the BEST ANSWER to complete the sentence.

. George's parents hope to spend more quality time with their children,so on holidays they often

take George and his to the park for a picnic.
(A) buddies (B) siblings (C) prodigies (D) colleagues

university in the USA.
(A) privileged (B) precarious (C) prestigious (D) preferential

. The of World War 1l for China was July 7,1937. In Chinese history, it was the

Republic of China that fought against Japan for eight years and finally accepted Japan 's
surrender in 1945.

(A) commencement  (B) entrance (C) anticipation (D) precedence

. Many countries have sent their search and rescue teams to Nepal to look for survivors from
the 7.8 earthquake that struck on April 25.
(A) barometer (B) epicenter (C) altitude (D) magnitude

. A sniper must be very good at .He knows how to cover his body with something
around him so that nobody can discover his position.
(A) construction (B) hypocrisy (C) camouflage (D) penetration

. In order to save more money while traveling in New York, | reserved my in a
cheap hotel several months ago.
(A) accommodation  (B) restroom (C) installation (D) stockroom

. That company has already given to the victims of contaminated food to show
their sincere apology.
(A) alimony (B) compensation (C) foundation (D) pension

. They are a very kind and generous couple. Last Saturday, they held a party at home.
Their earned their neighbors'appreciation.
(A) hospitality (B) humanity (C) hostility (D) humiliation

. Although the actress didn't win the award, she was still grateful to receive a(n)
(A) appointment (B) promotion (C) contention (D) nomination
The village had been by floods, which already caused great damage to its population.
(A) ravished (B) rallied (C) ravaged (D) ramified
Tanks had crossed the border and to a halt because there was a roadblock ahead .
(A) ground (B) twisted (C) found (D) separated
These submachine guns are among the most weapons in the world.
(A) suffocated (B) solitary (C) sophisticated (D) spontaneous
Wearable technology has been widely applied to little gadgets and will soon become
(A) deliberate (B) ubiquitous (C) sloppy (D) eligible
What we are planning is a company at the of mobile communications technology .
(A) self-starter (B) all thumbs (C) legal loophole (D) cutting edge
Twittering text messages is these days.
(A) out of stock (B) all the rage (C) at dawn (D) on the spot
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He had been on since he won the competition.

(A) desperate remedies (B) death toll

(C) crew cut (D) cloud nine
. Grammar:

Questions 17-28. Choose the CORRECT ANSWER to each question.

All of the people at this conference are
(A) mathematic teachers
(C) mathematics teacher

(B) mathematics teachers
(D) mathematic's teachers

Only after food has been dried or canned for later consumption.
(A) should it be stored (B) it should be stored

(C) should be stored (D) that it should be stored
Almost everyone fails on the first try.

(A) in passing the driver's test
(C) passing the driver's test

(B) to pass the driver's test
(D) to have passed the driver's test

The examiner made us our identification in order to be admitted to the test center.
(A) to show (B) showing (C) show (D) showed

Farmers look forward to every summer.

(A) participate in the county fairs (B) be participating in the county fairs

(C) have participated in the county fairs (D) participating in the county fairs

Staying in a hotel costs renting a room in a dormitory for a week.

(A) twice as much as (B) as much as twice

(C) as much twice as (D) twice more than

A huge amount of migrants are still at sea,
recent crackdown by the government on human smuggling .
(A) where was (B) which they (C) who are

Conditions which apply to your flight are available at the travel agency
(A) which your holiday you book
(C) where you book your holiday

(A) Apart from (B) In case of (C) Despite

The country has a very vibrant bike culture, with its citizens

(D) many of them

(B) from which your holiday book is .
(D) whose book is your holiday

the affected child , the doctor checks every other member of the household .

(D) Providing

(A) appreciated show in bicycling
(C) bicycling appreciation (D) appreciating bike

abandoned by traffickers after a

from a young age.
(B) raised to appreciate bicycling

If the director that the top candidate was still a consultant for the government, he

would have given the others greater priority.
(A) inform (B) informing (C) had informed

Upon hatching, :

(A) young ducks know how to swim

(B) swimming is known by young ducks

(C) how to swim is known in young ducks

(D) the knowledge of swimming is in young ducks

%37
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I11. Reading Comprehension:

Questions 29-40. Read the following articles and choose the BEST ANSWER
to each question.

Questions 29-32

29.

30.

31.

32.

Application for admission to the Graduate School at this university must be made on forms
provided by the Director of Admissions. An applicant whose undergraduate work was done at
another institution should request that two copies of undergraduate transcripts and degrees be
sent directly to the Dean of the Graduate School. Both the application and the transcripts must
be on file at least one month prior to the registration date, and must be accompanied by a
nonrefundable ten-dollar check or money order to cover the cost of processing the application.

Students who have already been admitted to the Graduate School but were not enrolled
during the previous semester should reapply for admission using a special short form available
in the office of the Graduate School. It is not necessary for students who have previously been
denied admission to resubmit transcripts; however, new application forms must accompany all
requests for reconsideration. Applications should be submitted at least eight weeks in advance
of the session in which the student wishes to enroll. Students whose applications are received
after the deadline may be considered for admission as non-degree students, and may enroll for
six credit hours. Non-degree status must be changed prior to the completion of the first
semester of study, however.

An undergraduate student of this university who has senior status and is within ten credit
hours of completing all requirements for graduation may register for graduate work with the
recommendation of the chairperson of the department and the approval of the Dean of the
Graduate School.

According to this passage, where would a student secure application forms for admission to the
university?

(A) From the chairperson of the department

(B) From the Dean of the Graduate School

(C) From the Director of Admissions

(D) From the institution where the undergraduate work was done

Which of the following documents must be on file thirty days before the registration date?

(A) Two copies of recommendations from former professors

(B) A written approval of the Dean of the Graduate School

(C) One set of transcripts and an English proficiency score

(D) Two copies of undergraduate courses and grades, an application form,and an application fee

The word status could best be replaced by which of the following?
(A) information (B) classification (C) payment (D) agreement

The author makes all of the following observations about non - degree students EXCEPT
(A) they may be admitted after the deadline.

(B) they may enroll for six credit hours.

(C) they must change their status during the first semester.

(D) they need not submit transcripts.
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Questions 33-36

33.

34.

35.

36.

Asia is facing a new growth hurdle: A slump in consumption growth. The region's battle
against anemic export demand is already in its fourth year. Now domestic spenders, too, are
holding back. The fear that Asia may be unable or unwilling to spend all of its gains from cheap
oil is coming true. Without bold measures, growth may stop.

Little sign has been shown that cheaper energy is making consumers more willing to reach
into their wallets. That's probably because they don't expect the gains to last. Tepid global
demand has already taken a toll on pay in export-dependent Asia. Cheap oil and low inflation
means even less pressure on employers to raise salaries. The Economist Intelligence Unit says
average real wage growth in the Asia-Pacific region might improve to 5 percent this year, from
4.5 percent in 2014. That would still make it the worst two years for labor in the region since the
1997-1998 financial crisis.

That might explain why policy makers from China to Australia have overcome their fear of
stoking property bubbles to cut interest rates. Even then, the case for further stimulus efforts is
getting stronger. More easing wouldn't be a surprise. Consensus expectations of more than 6
percent growth in Asia this year are squarely pinned on domestic spending. But with
consumption emerging as a new growth hurdle, those hopes could stumble.

What is the main idea of the passage?

(A) Cheap oil gives boost to the domestic consumption.
(B) Inflation crisis is on the go.

(C) Economy is sluggish in Asia due to low wage.

(D) New threat for Asia as spending growth slows.

What is the factor that worsens the economic situation in Asia other than tepid export demand?
(A) less pressure on employers to raise salaries

(B) stimulus efforts made by policy makers

(C) weak increases in national consumption

(D) interest rates cut in real estate

According to paragraph 2, potentially increasing average wage would trigger economic
hardship. This is because
(A) the growth is limited
(B) consumers are willing to reach into their wallets
(C) little incentive provided by the government

(D) Asian market is export - dependent

According to the author, which of the following is INCORRECT?

(A) Interest rates would be lower given that property bubbles would linger.

(B) Labor wage is estimated to grow merely by 0.5 %6 compared to 2014.

(C) Measures should be designed to bring the export out of its slumber.

(D) Consumers' hands are tied for fear that their earnings may not be sufficient.

S
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Questions 37-40

37.

38.

39.

40.

The inner solar system consists of the sun, eight planets, their moons, and the countless
other celestial bodies that orbit the sun between the planets. There are also innumerable objects
in the realm beyond the last planet in the region that has been termed the outer solar system.
These objects include several dwarf planets and their moons, comets, and various small icy and
rocky objects that are too small to be classified as either.

The boundary of the solar system is the limit of the sun's gravitational pull since any
objects that get caught by its gravity will begin to orbit the sun. So far, the most distant object
discovered that orbits the sun is approximately sixty-eight astronomical units (AU) from the
sun, yet some astronomers believe that the sun's pull may extend even further than that. One AU
IS equivalent to the distance of Earth from the sun-—roughly 150 million kilometers.
Astronomers refer to the region of space where the majority of these faraway objects orbit the
sun as the Kuiper Belt. The most distant visible object that has been termed the outer solar
system and thus merits attention is Eris.

The word celestial indicates things .
(A) outside this world (B) visible on Earth (C) in rotation (D) gravitational

According to paragraph 1, which description about the outer solar system is INCORRECT?
(A) Numerous objects are too small to be identified.

(B) It occurs beyond the orbits of the eight planets.

(C) The force of the sun which pulls toward it is marginal.

(D) Particular small planets and their moons are found within it.

According to paragraph 2, which of the following is true of the Kuiper Belt?
(A) Objects travel through it will be pulled outward from the center.

(B) It lies along the way to sixty-eight AU from the sun.

(C) The region of space extends to approximately 150 million kilometers.
(D) Numerous objects within it revolve around the sun.

Why does the author refer to Eris?

(A) To highlight that it is one of the five dwarf planets in the solar system
(B) To add that nothing else visible in the solar system is farther from the sun
(C) To reiterate the features of those dwarf planets that orbit the sun

(D) To emphasize the large area Kuiper Belt covers in the solar system

[LIFZEH]
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